L
o]
" 3 . B«
: Ex g 4B
‘ ¥ huy SM B
w wt £ .~ G
c § E B2 4%
o
WINDOWS & DOORS ﬁ B g $ 2 88
- o
250 Staunton Turnpike, Parkersburg, WV 26104 § Z g QE
& 8% g gg
PoZd, by
96.1" MAX. OVERALL FRAME WIDTH o § g2 Eg
o
5400/54008S Seri e — ;oS o
/ e”es PANEL WIDTH é g E
° o geo ° - ALE'MAX. § g .
Vinyl Sliding Patio Door DLO. WIDTH :
(0]
L
" ’ gk
NON-IMPACT / /, e | 28
V4 Va Li'% &5
/ I S &
o=
5 82 |ys°
i 3T |2 G
x —_ — . W Ly
L = = O [75) n
= 0 O SZ |o o
< O o Jo < <X
2 I T EnS o €3
K- —1 : QI © |o &n
40 © O & =W
T Z I 3] | £
2 x o X O ¢ g ¢
EVALUATED FOR USE IN THE STATE OF TEXAS 3 % %
The Wincore Sliding Patio Door described herein complies with the 2006 International X = f) &
Residential Code (IRC), Sections R308.6 and the 2006 International Building Code (IBC), = S e
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject fo the = T
following conditions: &
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond roof covering. i y %)
2. When used in areas requiring wind-borne debris protection this product is required to / d %
be protected with an impact resistant covering that complies with Section R301.2.1.2 >
of the IRC and Section 1609.1.2 of the IBC. o
3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.
IABEE OF COMIENT  OVERALL |  MAX. | MAX. | . | DESIGN PRESSURE (PSP =
SHEET# | DESCRIPTION o FRAME o PANEL: e :
1 Typical elevation, design pressures & general nofes - DIMENSION |- DIMENSION | - ‘DIMENSION - | - "~~~ .| POSITIVE | NEGATIVE =
2 Horizontal and vertical cross sections . N " " " N -
e Tl oncharTool Cess = oiore 70.9"x 81.9" | 35.6"X77.6" | 29.1"X71.2" | G1,G2,G3 | +60.0 -60.0 ZZ;; . 6/ IZIGT/; 6
4 Frame anchoring " " 5 o N . | i i
5 Glazing detals 94.5"x 79.5" | 47.2"X 75.2 40.7" X 68.8 1.62,G3| +40.0 -40.0 oWe. 8. JK
6 Bill of materials & components 96.1"x 96.1" | 48.1"x 91.7" 41.6" X 853" | G1,G2, G3 +35.0 -35.0 E::;“:: _ LFS
TX—4615
SHEET _1 oF _6

R:Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN-NEW 5400.5400S SGD\C - Drawings\TX-4615.dwg, TX-4615

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ SNIGTING "M'Y 9102 §

ZS8LL—4 # NOLLVMLSIORY 40 ILVOIHILYIO SNOILOIS SSOYD SNOISIATY i
SHIINIONT TYNOISS3J0¥d 40 aQuvog SvxXal WILLYIA ANV TYINOZINOH A8 31vad [ON © slxlo| w© 6_
L6L6°6G9°CL8 *ON euoyd ! 5| x 0
G6SEE 14 O9MIDA 0£Z Xog .o.m&@ ‘A1GNISSY ¥O Livd W = = . % &
“ONI “‘SINVLINSNOD ONIGTING o= 21 2_
S4004 OlLlvd 9NIans o [&lEle X
_£ZLY0Lf "I'd Svxal S31¥3S S00¥S/00+S i m M E I
3°'d ‘IPIWYDS ‘4 uopuky :Ag pedodeld sjuswnoog :10Naoyd 23 W z w =
N
-
-l g
a &
— % zZ z
= 0 Q
ﬁ (X0)g
e
D
(%]
1%
ﬁo (o]
—E [+
AT S C
= <
— U
C_ = =
e W
5 <2< >
[[[[[ LS
S <SR (v
oc o .0
] O wZ K
= e oz <=n
- O m ~ Ewo
- ~N 1] REO
< V) ) 25>
= () ()(= o Z
[ L)
(=) O 0
T
\ = :
— 2
>
w v

\2/
? 79 DRYWALL @
[1Am[m)

m VERTICAL CROSS SECTION

m HORIZONTAL CROSS SECTION

EXT.

SHEATHING

/
ﬂ.G
5 &
S
] o ;
(o e
N| N
&1 ]
@ :
IS > =
e TN
o w og
<= o M - B ” _ M
v //4. ew w0 h _n“lv
b = | - ® 5
| O Pt T o G
s (| @3 —@
S ,
D o - ©
— -~ - /
s
&

Z'T 'BMP'8T-STOY-X1\ADS S00VS 00S MIN-NIM\sI00Q sse|o Buiplis\sul jo 3daq sexa] - §\LNINVINYId 300UlM\SIUIID\Y



‘ONI SLNVLINENOJ aNIaling "M°d 9102

EXT.

SHEATHING —\

ZS8LL—4 # NOLVMLSIOSN 40 3LVOI4ILNIO SNOISIATY
SY¥3INIONI TVNOISSII0Nd 40 Q¥VOdE SYXAL .Eot@mm:%mm ._m&.ﬂwmw_mOI A8 31va [ON] | . el @ 6_
ren . = A
L616°6S9°C18 : ) e
SBAEE 14 LB, Gz XOE o' \Su@ ‘ATENISSY ¥0 Ldvd 3 M 1 x4
*ONI ‘SINVLINSNOO ONIaTINg N g1 3_
S¥00d_OlLvd ONIAITS S |g]gle =
SZIPOLF '3'd Swxal S31¥3S S00¥S/00+S ” m N m
.m.n_..uEE:om °4 uopuA :Ag peipdeud sjuswnoog :10NAaoyd m S W m W %
oz
w_ - (2
= -
—
Z
2
g 9
[ AR A RSP 2
g LQIWHOS '3 NOONAT 2 W=
.\\ ..... esssevensusenssasesns g I o
AR I oy &4
A o BE ¥ O O =
N&.«. o ..Ou oy O =z C
S8, V. AN O & W
~ \*\ .......... QY o
Nd./ 4 \/ﬂ(\( (%)
A w Yo m
az
8]
-
<
1
[
v
>
oz < |
o mu
m 3 o ==
£l \9 ~ =29
- ~ 28 T
M L) @ 2)(N) (o) M = n\w
& m — = N\ = wZo
5 5 ® 2 <2q
0 O 2 3
= = — T Z Sxz=Z
R = g .5 8B
O oz ST OO0
e} o o e o -
L] (e
BN :
e ] e
- o
= 8] o]
= '~
E @ S
w L |
= =
<
[ ™™ -nl.u
o
o
x
m

<

V4

V4

ANCHORING UP TO 96.1" X 96.1" FRAME SIZE

V4

INTERIOR

A\

A\)

IL

[E—

7

EXTERIOR

-

EXT

SHEATHING

./g

m HORIZONTAL CROSS SECTION

€T 'BMP'8T-STOY-X1\ADS S00VS 00%S MIN-NIM\sI00Q ssejo Buipiis\su] Jo 1daq sexal - G\LNINVINYId 2J0OUIM\SIUBIDNY




R:\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN-NEW 5400.5400S SGD\TX-4615-18.dwg, 1.4

11.75" MAX. O.C.
(TYP.)
X 6" (TYP.) —»‘ ——
B 1 1 I 1 1 1 I _
2X BUCKJ » J L 8
o
= X
HEAD (TYP.) o iF
o E
FRAME —|[ILL | =
SILL (TYP.) JAMB (TYP.)
B CONCRETE \ .
MEETING STILE
B WOOD SHOWN FOR a
REF. ONLY
1 1 1 1 1 1 1]
FLOOR SUBSTRATE MATERIAL (TYP.) /
CONCRETE (MIN. 3000 PSI)
WOOD (G >=0.42) FRAME ANCHORING

NOTE: One (1) ANCHOR REQ'D @ EACH LOCATION SHOWN

[ ANCHORING UP TO 94.5" X 79.5" FRAME SIZE |

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

SOIWPE: k8

tapcon® | V4 1-34° 1-1/ 4
ELCO " n . " "
uiracon® Y/ 1-3/ A2 .

2X BUCK—/

FRAME —/

y

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)

16" MAX. O.C.
(TYP.) 4" -

() N (TYP.) 4._1 ‘
— T T T T_] _T
_ % E

HEAD (TYP.)
JAMB [TYP.) ‘
J
L SILL(TYP.) |l © ~
CONCRETE \\ 2 =
— WOOD MEETING STILE -l %
SHOWN FOR -
REF. ONLY
B 1 1 1 1]
FRAME ANCHORING

WOOD (G >=0.42)

NOTE: TWO (2) ANCHORS REQ'D IN PAIRS @ EACH LOCATION SHOWN
| ANCHORING UP TO 96.1" X 96.1" FRAME SIZE |

‘\_\.\'\:\.\r‘g\'
Soxind Y90
& @IS T
b . b
.--;Lzr.«‘ i it
> Pl HOE
4 hzio:
',é ol fwt
4. 2 Z 3
Ao 30 3
21 B, ind
1’2;/ '~.,‘..: =
‘111{" i
Moy

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

5400/5400S SERIES
SLIDING PATIO DOORS

PART OR ASSEMBLY:

PRODUCT:

FRAME
ANCHORING

BY

NOJ| DATE

REVISIONS

oATE: 6/16/16

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4615

SHEET 4 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN-NEW 5400.5400S SGD\TX-4615-18.dwg, 1.5

0.5"
GLASS BITE

SILICONE (TREMCO)

=

— 1" THICK GLASS

P 1/8" TEMPERED

S ~~— AR SPACE

/i

(: :) GLAZING DETAIL

L
T ™~ 1/8" TEMPERED

INTERCEPT SPACER

0.5"
GLASS BITE

=]

C —

0.5"

GLASS BITE

SILICONE (TREMCO)

=L ]

(::) GLAZING DETAIL

— 1"THICK GLASS

1/8" ANNEALED

——— 0.030" SAFLEX® PVB INTERLAYER

S ™~ 1/8" ANNEALED

:t AR SPACE

1/8" TEMPERED

TRISEAL 5/8" SUPER SPACER

@ SILICONE (TREMCO)

<::) GLAZING DETAIL

oMy, uj
Sxini &z{“lz? NI
5@5‘9’1’/ ??2 ~§ g3 0 £
S izt w9 N|[Ex 2 U
SN0 BN [y gB gy
. P O g W Z N Gu
201 iwiz W SEQ %
o 1T e 9O gg g o 2
PSSR ol < 5 8a Z2Z
X -G ; e E 23 o9
Y., 19F > dJdgo bk
UQS58 wead Z L QD p*n QE
NExin i 0 Zow b
111\{\\\—'\\‘0' & On: EO
° e ézo w
° Zmn oL
5 g.2 _o
a =g6 2
® 3ok %k
o moo 06
s
5 i
; S F
—— 3/4"THICK GLASS e
1/8" TEMPERED
e | .
~ =0
=T AR SPACE xS | 2
ne E
P o g =
1 1/8' TEMPERED S5 |4 o
I |3 2
wf N
S2 (8 3
INTERCEPT SPACER SERERS
553 |2
8 [e]
o) &
o <
o o
>_
m
2]
zZ
O
%
>
L
o
B
<
(i
o
=z

DATE: 6/16/16

Scate:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4615

SHEET 5 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS u
ITEM # | DESCRIPTION MATERIAL 5.44' o : e« 3
B | 2X FRAMING [5G >= 0.42] WOOD S g5, &
C__[1/4"MAX. SHIM SPACE - W E“ E 151 g 4B zZC
F_ | #10PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT REQ'D INTO WOOD) STEEL 7 1o cC 20 Bl
| //AELCO OR TW CONCRETE SCREW (1-3/4 MIN. EMBEDMENT REQD. STEEL [ d o , ol a_a&l - 4 5 g g 2 >
INTO CONCRETE) ' ! S ! 01 ER Eep 85
T #Ex 23/ A GAD 5C = ¢ 8 5 S gz e
2 x 2-3/4" FH QUADREX WOOD SCREW STEEL . P2 , 689 &V
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270)] - [ ] S L] e & eyl £
4| HEAD TRACK* PVC B Zd, 64
5 | STILE & RAILY PVC (1) FRAMEHEAD § 392 By
6 | SETTING BLOCK - " = 83
7 | SIICONE (SIKA 552] SILICONE 544 . £ E
8 | DURASEAL SPACER SYSTEM - ' | : 5 &
9 [SHIM - 3
10| TANDEM WHEEL NYLON 317 .
11| ROLLING RAL ALUM _
12| siw PVC == =) |
13| SILL DUST COVER* PVC 608" b eg | 4,
14 | SILLPLUG NYLON n 59 ==
15 [ SILL WEATHERSEAL - e oo | B2
17 | LEFT CAP FOR SILL ADAPTER* PVC SE |5 =g
18| RIGHT CAP FOR SILL ADAPTER* PVC STIEE: RAIL @ FRAME SILL 8o |3 53
19| #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL @7 Sz |9 34
20 | OUTSIDE SILL CLADDING STEEL 2152 |of ®
22 | INSECT STOP - 19"— 2 o
23| SCREEN - 5 207" . S 2
24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL . M o | - &
25 | FIXED PANEL ANCHOR BLOCK® PVC 007" 3 ] I gy %
27 | SCREW CAP NYLON N 0.05" fa A o0er
28| GLAZING BEAD* PVC ] T g -
29 |FOAMPLUG -
30 | HEAD WEATHERSEAL - [
31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL @ INTERLOCK REINFORCEMENT ] = "
32 | SASH STOPPER EPDM C) Stie ) 3 z
33| WEATHERSTRIP . o < %
34 | FRAME JAMB* PVC 0 o
35 | WEATHERSTRIP - E &
39 | HANDLEKIT STEEL
42| KEEPER FOR SCREEN . ) C_ S
43| #4 X 5/8" PAN HEAD QUADREX SCREW STEEL 3 (=087 =l .
44| #10 PPH WOOD SCREW (1-3/8" MIN, EMBEDMENT REQD INTO WOOD)] STEEL S| B _1 o , [ =y
46| STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL pl° 008 ——ll-— & =
47 | SASH COVERING CAP* PVC = S
48| LOCKPLUG* PVC T L 1 . FRAME JAMB S
50 | STILE REINFORCEMENT STEEL =
51 | #8X 2" TRUSS HEAD QUADREX SCREW STEEL owE: 6/16/16
52 INTERLOCK* PVC ‘w SCALE: N.T.S.
53| STILE REINFORCEMENT STEEL owe. Bv:  JK
54 | Q-LON WEATHERSTRIP (SCHLEGEL NO. QEZ 345) - ow o LFS
DRAWING NO.:
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY TX—4615
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS". ——

R:\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN-NEW 5400.5400S SGD\TX-4615-18.dwg, 1.6

© 2016 R.W. BUILDING CONSULTANTS INC.




